

$$f(n) = \begin{cases} a + \sqrt[n]{n^2} & ; n < 1 \Rightarrow a + \sqrt[n]{1} \\ b \sqrt[n]{n^2} & ; n > 1 \end{cases}$$

$$f(1) \Rightarrow a + 1 = b \quad (I)$$

$$\lim_{n \rightarrow 0^+} \frac{a + \sqrt[n]{n} - a}{n} = \frac{n}{n} = 1$$

$$\lim_{n \rightarrow 0^-} \frac{a + \sqrt[n]{n} - a}{n} = \frac{-n}{n} = -1 \Rightarrow f'_+(0) \neq f'_-(0)$$

$\Rightarrow$ مشتق ندارد $n=0$

$$\xrightarrow{\text{مشتق گیری}} f'(1) = \begin{cases} f'_+(1) = 1 \\ f'_-(1) = \frac{b \times 2}{2 \sqrt[2]{1}} \end{cases}$$

$$\Rightarrow 1 = \frac{2b}{2} \Rightarrow b = \frac{2}{2} \Rightarrow a = \frac{1}{2} \Rightarrow \boxed{a+b=2}$$

$$f(n) = \frac{12n-1}{\sqrt[3]{n^2}} \Rightarrow f(n) = \frac{-(12n-1)}{\sqrt[3]{n^2}}$$

$$g(n) = \frac{\sqrt{2n^2+1} + \sqrt{2n}}{\sqrt[3]{n^2}} = \frac{12n-1 + \sqrt{2n}}{\sqrt[3]{n^2}} \Rightarrow g(n) = \frac{-(2-12\sqrt{2n})}{\sqrt[3]{n^2}}$$

$$\Rightarrow f(n) - 2g(n) = \frac{-(12n-1)}{\sqrt[3]{n^2}} - \frac{-(2-12\sqrt{2n}) + \sqrt{2n}}{\sqrt[3]{n^2}} = \frac{-2\sqrt{2n}}{\sqrt[3]{n^2}} =$$

$$\Rightarrow (f(n) - 2g(n))' = f'(n) - 2g'(n) = \frac{-2 \times \frac{1}{2} \times \sqrt{2n}}{\sqrt[3]{n^2}} - \frac{2 \times \frac{1}{2} \times \sqrt{2n}}{\sqrt[3]{n^2}} \Rightarrow f'(1) - 2g'(1) = \boxed{\frac{\sqrt{2}}{2}}$$

$$f(n) = \begin{cases} bn+c & ; n < a \\ \frac{1}{n} & ; n > a \end{cases}$$

$$\text{پیوستگی: } bn+c = \frac{1}{a} \Rightarrow ba^2 + ca = 1$$

$$\text{مشتق پذیری: } f'_-(a) = f'_+(a) \Rightarrow b = -\frac{1}{a^2} \Rightarrow ba^2 = -1$$

$$\Rightarrow \boxed{ac=2}$$

$$f(n) = \begin{cases} b & ; n < a \\ b + (n-a)^m & ; n > a \end{cases}$$

$$\text{تکانه‌ناهی} \Rightarrow f'_+(a) \neq f'_-(a)$$

$$f(n) = \begin{cases} 0 & ; n < a \\ m(n-a)^{m-1} \times 1 & ; n > a \end{cases}$$

$$\Rightarrow 0 \neq m(a-a)^{m-1} \times 1$$

$$\Rightarrow \begin{cases} m=1 & \text{تکانه دارد} \Rightarrow f(n) = b + n - a \Rightarrow f'_+(a) = 1 \\ m-1 > 0, m \neq 0 & \Rightarrow f'_+(a) = \infty \end{cases}$$

$$g'(n) f'(g(n)) = (f \circ g(n))'$$

$$f \circ g(n) = \frac{1}{\sqrt[3]{2 \left(\frac{1}{n^2} \right)}} = \frac{1}{\sqrt[3]{\frac{2}{n^2}}} = n \Rightarrow (f \circ g(n))' = 1 = (f \circ g' \left(\frac{1}{n^2} \right))'$$

$$g(n) = \frac{1}{\sqrt[3]{2(n^2)}} = \frac{1}{2\sqrt[3]{n^2}} ; n < 0$$

$$f(n) = \frac{1}{\sqrt[3]{n-(n)}} = \frac{1}{\sqrt[3]{2n}} ; n > 0$$

$$y = -ax - a \Rightarrow \begin{cases} f'(x) = -a \\ f(x) = -ax - a \end{cases}$$

$$\Rightarrow f'(x) - f(x) = -a - (-ax - a) = ax + a = 2 \Rightarrow a = \frac{2}{x} \Rightarrow \frac{f(x)}{f'(x)} = \frac{-x(\frac{2}{x}) - a}{-(-\frac{2}{x})} = \boxed{-\frac{1}{2}}$$

$$f(n) = \left(n \left[n^2 + \frac{1}{n} \right] \right)^2 + 1$$

$$g(n) = \frac{1}{\sqrt[3]{2n-1}} \Rightarrow g\left(\frac{2}{n}\right) = \frac{1}{\sqrt[3]{\frac{2}{n}-1}} = 2 \Rightarrow f \circ g(n) = \left(g(n) \left[\left(\frac{2}{n} + \frac{1}{g(n)} \right) \right]^2 + 1 \right)^2 + 1 = 14g(n) + 1$$

$$\Rightarrow (f \circ g(n))' = 32g(n) \cdot g'(n) = 32 \times \frac{1}{\sqrt[3]{2n-1}} \times \frac{-2n}{3\sqrt[3]{(2n-1)^2}} \Rightarrow (f \circ g' \left(\frac{2}{n} \right))' = \frac{32 \times \frac{1}{3} \times \frac{-2n}{\sqrt[3]{(2n-1)^2}}}{3\sqrt[3]{\left(\frac{2}{n} \right)^2}} = \boxed{-\frac{512\sqrt{2}}{3}} \Rightarrow \text{مشتق ندارد}$$

$$g(n) = f(n+1) + f(n+2) \Rightarrow g'(n) = f'(n+1) + f'(n+2) \times 2 \Rightarrow g'(-2) = f'(-1) + 2f'(1) = (f'(-1) + f'(1)) = \boxed{4}$$

$$\lim_{h \rightarrow 0} \frac{f'(\omega-h) - 3f'(\omega-h) + 2}{h(\omega-h)} = \lim_{h \rightarrow 0} \frac{-2f'(\omega-h) + 2f'(\omega-h)}{-2h + \omega} = \frac{-2f'(\omega) + 2f'(\omega)}{\omega} = \boxed{\frac{-\omega}{12}}$$

$$f'(n) = \sqrt[3]{n+2} + \frac{1}{3\sqrt[3]{(n+2)^2}} \times (n-1) \Rightarrow f'(\omega) = 2 + \frac{1}{12} = \frac{25}{12}$$

$$f(\omega) = 2$$

$$\left. \begin{array}{l} y - x = 1 \Rightarrow m = \frac{1}{-1} \Rightarrow m' = -1 \\ y' = x - 1 \end{array} \right\} \Rightarrow x - 1 = -1 \Rightarrow x = 0, y = 1 \Rightarrow (0, 1)$$

②